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The figures in the margin indicate full marks
for the questions.
GROUP - A
- Answer any six questions. 6><5—30

‘l/ﬁﬁmuate between hedgmg, speculation and

\afﬁw =55
Compare between forward and futures contracts.

5

3. "For an asset where futures prices are uSually less
than spot prices, long hedges are likely to be
particularly attractive." Elaborate =




M‘

4. plain what is meant by a perfect hedge. Doe g 4
erfect hedge always lead to a better outcon .,,’
than an imperfect hedge ? Elaborate. 3 §'

lion portfoho w;th:f
nuld like to use futures
‘the S&P 500 to hedge its risk.
¢ futures is- currently - standing at
d each contract is for dehvery of

5: | 'The early exercise of an Ameriean put is a trade- ;
., mes the index. - T i

off between the time value of money and the
insurance value of a put ?' Explain. 5

6. What do you mean by Swaps ? How can Swaps
be used to mitigate risk ? ' 5

7. The treasurer of Intematlonal Exports Limited is
uymg to choose between options. and forward

enience y1e1d and cost of arry o
contracts to  hedge ‘the company's foreign

lpyear long forward contract on a non-
liv pp,y;ng stock is entered mto when

Distinguish between Caps, Floers and Collars. 5

&Ml/
aAr( pnee and the mmal

'GROUP - B , ot ?
Answer any four questions. ‘4><10=40 the price of the stock is

: Rs 267 and the risk-free interest is still
- 6%. Does the forward price change ?
Also, determine the value of jhe forward
contract. el " s

y v,‘“. : 2

9. (a) "If the mmxmum variance hedge ratio 1s‘
.o ted as 1,0, the hedge must be perfect.”
ient true ? Justify, 3
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11 (a) Explain why the arguments leading t ' @ 2-year American put with a .Strilse.

call parity for European options cann $52 on a stock whose current price is

used to give a similar result for Amer er the next two one-year time period (i.c.

op’nons i steps of one year each), in each time

: : % . stock price is expected to move up by

~(b) The price of a three-month European ', ot down by 20%. The risk-free interest rate
option having a strike price 0f$30.is $3. T} : '

underlying stock pnce is $31. If the ri

free interest rate is 10% per annum

determine the price of a European put optl oI

with the same strike price and time left for u

maturity. B , g, 5

ether there exxsts a poss1b111ty of e exe
the option.

ducts ? : , 3
12. (2) Explain carefully why the futures price of produc .

~ gold can be calculated from its spot price and (b) Explain the process of designing and testing

- other observable variables whereas thc of new financial product. 7
futures price of copper cannot be calculate¢ G
A Py GOTE b o
- (b) The spot ‘price-of silver- is: $10 perohnad : Answer any two qucstsons. 2x15=30
The storage costs are $0.24 per ounce per 5 el \SWap i e s i

year payable quarterly in advance. Assuming
that interest rates are 10 per cent per annum ,~
for all maturities, calculate the futures price a
of silver for dellvery in 9 months. 778

(b) Explain why a bank is subject to credit risk
- when it enters into two offsettlng swap
contracts ~ ey _ 3
W/BA 13240F2 Gy [Turm over
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a Why is it necessary to develqgmew financial

o
/1"\% o
0 9




| notes on any three : i .3§<5=41_5f
) Busis Risk
ommodities Market 1n India

Day Count and Quotation Conventions

(¢) Companies A and B have been offe
~ following rates per annum on a Rs, -
~ loan for 5 years — vkt O

€

Companies | Fixed rates ,‘ Floating
A | 120% | mmor + 0.1%
B | 145% - MIBOR + 0.99

Company A requires a floating rate loan ¢
‘Company B requires a fixed interest rate
loan. Design a swap that will net a ‘bank,
acting as an intermediary, 0.1% per annum

and that will appear equally attractive to both

the companies. 10

_(d) Currency Futures
-' Mmeri’can’ vs. European Optiens.

16. (@) Explain the principle of ﬂsk-neutral _valuatioﬁ.

\(KﬁVhat is the pricg Of

= : : _(1_); a European call Vog’tlon ax_ld_ .

| ‘3 (i) a European put option when the stock
| 2 ~ price ;6'month%mle expiration of the
option is $42, the exercise price of the
option is $40, the risk-free interest rate
is 10% per annum and the volatility is

iho il ~8
. :
r‘?. ’,—’e{

20% per annum ? N9
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